11 EEEREIHERIR

1.1.1



1.1.2

1-1

1-1

1-2

PVC

1-2




1.1.3

20 90

2025
5 10

20%
40%

2017 7

1

20 80

30%
2020
50%
2020

30%

30%

BIM

20%

10



1.1.4

A

il
5

HRRIER MR

1.2.1

1.2.1.1 MHEREBRAMER

cm



_m
Po = v
Po— g/em®  kg/m?
m— g ke
Vo—
o m
Po = 7
Po— g/em®  kg/m?
m— g ke
Vi— cm?
D= ;MOO% =20 %100%
0 P
D— %
V— cm® m’
Vo— cm®  m?
Po— g/em®  kg/m’
p— g/em®  kg/m’
=2V 100% 2[1—&jx100% =1-D
0 P
P
P = M><100% = [1 —E]X 100%
Ve Py

Po

cm



1-3

1-3

/  glem? / kg/m?

2.6 2.9 2500 2800
2.6 2000 2600
2.6 2200 2500

2.5 2.8 1600 1800
1.55 380 700
7.85 7 850

2.60 2.75 800 1800
1.2.12 #EEKEXAMER
o0
0 1-1 6
0 <90° a
6 >90°
1-1 b
=0
9 NG )
2 v,
a
1-1
w
w="1""100%
m
W— %
m— g




100%
8% 20%
K,
K,=0 1.0 K,=0.85
K,=0.75 K,=0.85
3%
-15°C 9%
Fﬂ
15
K
_od
T AtH
K— cm/h

Fis



d— cm
A— cm?
t— h
H—— cm

1.2.1.3 #RSHREXRMER

a=—9
(I, -T,)At
A— W m-k ]
0— J
d— m
T, — K
A4 — m’
t— s
1.
GB 50222—1995 1-4
1-4
A
B1

B1




PVC
3
B2
Bl PVC
B2 PVC PVC
B1
B2
Bl
B2
A
Bl
300 kg/m? A B1
A A A
1.5 kg/m? Bl Bl
B2
h min
0.25h




1.2.1.4 MHEREZFEXRIMER

125 Hz 250Hz 500Hz 1000Hz 2000Hz 4000Hz
0.2
1

R[R =101g(1/7)]

1.2.2

- 10 -



122.1 #RAVEE

1-2
N/m
|
F
F
4 ] 1 i f f ‘F
A |4 | ’;|)’ L % b
l | o |
a b c d
1-2
1222 BEZFR. LEE
1223 MEESHEMY
HBS HBW
HS HR HV HD HA
N N
Nomom

- 11 -



mp my——

A cm?

1224 M B RHESEIMN

1.2.3

10 15

1231 IRHA MR EERER

12 -



- 13 -



ce i »»
2.1 EURESRTH
2.1.1
2ecmX3ecmX2m 4m 1 cmX3 cm
25ecmX4cm 3cmX4ecmX2m 4 m
20X30 25X35 30X40 30X40

40X 60 60X 80 100

2.1.2

- 14 -



22 BREEME

2.2.1

- 15 -



